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4. (10%) Two plants A and B produce the same product. The prﬁd&uun consists of
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three consecutive machining processes as shown below. Plant A uses 25 (units / l{}t). \

policy while plant B uses 1 (unit / lot) policy to transfer products from one machine 7/( ¢ |

to the next machine. All three machines have the same production rate of 5 minutes>
per unit. Assume there is no machine failure and no traveling time between

machines. What is the ratio of production cycle time at plant A versus cycle time at
plant B? g C 4 C
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